Match your answers to the answers in the Legend. Then record
II the corresponding letter in the circles below to answer the riddle.

DIRECTIONS| Note: The problem numbers match the numbered circles.

D
— %
6 Six thousandths Q Two thousandths Q Six hundredths
A @ Three tenths a Seven tenths G Two tenths
N
=i G Four tens Q Four thousandths Q Two hundredths

9 Three tens G Six ones

G Seven hundredths G Seven tens

Q Three ones Q Four ones

Identify the place value of each Identify the place value of each Identify the place value of each
digitin the number 43.726 digit in the number 74.362 digit in the number 36.274

® 3 ® 6 @ 4
@ 6 @ 2 ® 7
® 7 ® 7 ® 6
® 2 ® 3 @) 2
® 4 @ 4 ® 3

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Skill: Naming place value to the thousandths place \-._m_,_;‘.- |

CROWN
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NAME: DATE:

whatdid the co?w

II. Match your answers to the answers in the Legend. Then record the
corresponding letter in the rectangles below to answer the riddle.

) | DIRECTIONS Note: The problem numbers match the numbered rectangles.

(R YW @G o3 O o3 ®Qos1 Qor
O oo3 QDo @o7 Qo O

© 007 Qo4 @ 009 0 [Ej
.

Identify the decimal value represented by each picture:

L0 O OO O DO CEC DO

% 1 L] “ 8 1

Skill: Decimals expressed as pictures \-._m_,_;‘.- 4|

CROWN
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NAME: DATE:

Why does the deer spend
time clipping COUPONS?

Match your answers to the answers in the Legend. Then record the
II corresponding letter in the rectangles below to answer the riddle.

DIRECTIONS  Note: The problem numbers match the numbered rectangles.

—
© 5.007 © 0.006

O oo
@ os Q 44.005 Q@ 245
< D o35 Qo2 @ 445
1 @ozs 0 0035 @ 2045

Write the decimal value represented by the words in each problem:

@ thirty-five hundredths @ six tenths

@ five and seven tenths nine hundred two thousandths
@ six hundredths @ two hundred eight thousandths
@ two and forty-five thousandths @ thirty-five thousandths

@ nine hundred twenty-two thousandths @ two and forty-five hundredths
@ forty-four and five tenths forty-four and five thousandths
@ five and seven thousandths @ six thousandths

twenty-eight hundredths

L LU LU CL EEL T O L

Skill: Decimals expressed in words \_._m_)_,h N

. CROWN’
© Copyright 2013 ClassCrown™
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Circle the correct answer for each question. Then record the
II corresponding letter in the circles below to answer the riddle.

DIRECTIONS  Note: The problem numbers match the numbered circles. \

Round 4.752 to the given place value. Round 59.909 to the given place value.

Mtenths: @47 Q48 @475 tenths: @ 599 @600 ) 590
/ @ hundredths: Q 475 @ 476 m 438 @ hundredths: 0 59.98 0 59.91 Q 59.99
@ones: @5 @28 @40 @ ones: @59 @509 Qoo

Round 17.039 to the given place value. (13) If a recipe calls for 3.5 chocolate bars, how many

@ones: 017.1 917 G18 bars should you buy?
() hundredths: @ 17.04 @174 @ 17.03 o o o

A doctor finds a patient’s blood glucose level to
@ tens: m 20 e 17 G 171 be 7.84.To record it in her computer she needs

to round to the tenths place. What will she enter
into the computer?

Round 8.699 to the given place value.
i given place vald O @5 @7
@ tenths: Qss @Qs7 @869
@ An Olympic runner ran one mile in 4.695 minutes.
ones: G 9 Q 8 ﬂ 8.7 What is his time rounded to the nearest hundredth?

(9) hundredths: @869 @ seo ) s70 Q0 Q469 @468

6 10 1 4 7 ¥4 9 10 12 2 4 B i N B 13 2 6 2 3 8

Skill: Rounding decimals to the hundredths place CLASS h N

CROWN'
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NAME: DATE:

wnm did the hen say When ner

- chlck TRe‘rched the TRUTW

Match each numbered C|rcle on the number I|nes W|th its correct
II value from the multiple choice answers on the right. Then record the
corresponding letter in the rectangles below to answer the riddle.
DIRECTIONS

Note: The problem numbers match the numbered rectangles.

oS
@
o

o8
@
©

Skill: Identifying decimals on a number line CLASS k:y
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NAME: DATE:

what song does the shoe
| likestiolplal epatine piaNos
e — S

-l-
Solve the problems in each of the following sections. Then record the il PR ‘g
e II corresponding letter in the circles below to answer the riddle. N -
DIRECTIONS  Note: The problem numbers match the numbered circles. ,//
| 4

___ 2 A A A A i .‘ »yo

/A Choose the correct symbol in the problems below to make the statements true.

@) 54 O 5.39 @ 3.07 O 37 ® 09 O 1.0 @ 56 O 5.60 /

® o.27©o.027 (® 106 O 9.6 @ 0.306@0.36 ® 12.6@ 1.26

0- 0- 0- o<
o> 0> 0> 0>
- 0- 0-

@ Which is less thgn the @ Sara needs 1.125 yards of fabric to make a new skirt.
amount shown? Which of these is an amount she could buy in order
G 03 to have enough?

Q 0.23 ﬂ 1.0 yards G 1.2 yards Q 1.1 yards
©Q 021

Which is more than the (12) The average male heart weighs 10.2 ounces. Which
amount shown? of these weigh less than the average male heart?

@ 052
@ 050 @ 0200z @ 10220z @ 10020z

Q oss

1 2 3 4 ] 6 1 8 9 0w 1 12

Skill: Comparing decimals \_._n_ulr -

© Copyright 2013 ClassCrown™ 10 WWW.CLASSCROWN.COM



NAME: DATE:

What.did the Rose say T THe=
'-'mg when she was driving? &/ (B2

Use a ruler to draw a line from the fractions on the left to the
II matching decimals on the right. Then record the letter the line
passes through in the rectangles below.

Note: The problem numbers match the numbered rectangles.

DIRECTIONS

1

Ok o0 0.0045
35

@ J00 © (p) [h) o 0.3
1

® 75 © o 0.06

6
® - ° o o o 0.03
45
® o0 ° (o) o o 01
® - o o o 0.007

10
6

@ 00 o G o 0.45
45

0 O o 0.035

® —— o (1) o 0.0001

10,000
- o o e o 06
® 5 4 o 035
1000

@LD o 0.7

0 (0 (L0 0 L0 00D

3 10 N 9 nm n

Skill: Decimals expressed as fractions CLASS L _‘y

CROWN
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why did The COW 10S€
her deeR hcense

Solve the problems in each of the following sections. Then record the
II. corresponding letter in the rectangles below to answer the riddle.

DIRECTIONS Note: The problem numbers match the numbered rectangles.

Choose the correct symbol in the problems below to make the statements true.

4 5
() 034 STS @ — 0.5 ® 0670 ™

9 3 8
® 090( )= ©® = )o2 @) o401 O% 2 ( )oos

®=( )os @ oo )2 @2 0.3 @ o038 20

10,000 100

Circle the correct answer:

@ Three out of ten students prefer vanilla to chocolate Jill bought 0.8 yards of fabric to make part of her

ice cream. Which decimal represents a number Halloween costume. Which fraction represents
greater than this fraction? a smaller amount of fabric than what Jill bought?
78 8 81
0.29 0.306 0.3 — —_— —
e o 0 100 10 100

L CLL D LG CLLECLETEL

{
skill: Comparing decimals with fractions ~— LLA>> '

. CROWN
© Copyright 2013 ClassCrown™
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NAME: DATE:

what did the kitten sayo
—hig m mo’rheR whenhe lrnu;zed

Solve the problems in each of the following sections. Then record the
II. corresponding letter in the rectangles below to answer the riddle.

DIRECTIONS Note: The problem numbers match the numbered rectangles.

Match each addition problem with its answer:

(1) 3.7+03= Q400 (5)89+34= e By

@ 283+11.7= prd g3 (8 263+07= 02
() 72+0.11= [ c ) (7) 0.89+34= @ 63

@ 41.2+319= 0O o0s3 ® 263+7= O 123

(® 07+0.1= O3375 (1) 3613+28= 0 3893

7.6 +04= O os 3.613+28= 0Q 364

(1) 33.6+0.15= ©oos (1) 15.17+1.83 = @ 364.1

35.1 6413
@33.6+‘|.5= 38 151.7 + 7.83 = 3159.53

Using the table on the right, answer the following questions using the multiple choice answers below:  ANNUAL PREGIPITATION in.)

@ How much precipitation fell in Arkansas What is the total precipitation of the Arkansas: 50.6
and California combined? two states with the most precipitation? . .
_— California: 22.2
Hawaii: 63.7
How much precipitation fell in the states What is the total precipitation of all
with the least and most precipitation five states? New York:  41.8

combined? .
Wyoming: 12.9

Q725 Qssin. Qr98sin. @r912in. @11121in. @728in. @143,

CELLLLCLL CLO CL T

Skill: Adding decimals

h M
CROWN
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NAME: DATE:

\AJhg did the sheep stay

aF’reR scho\?

Solve the problems in each of the followmg sections. Then record the
II. corresponding letter in the rectangles below to answer the riddle. Al

DIRECTIONS Note: The problem numbers match the numbered rectangles.

Match each subtraction problem with its answer:

@ 12-47= Q41 (@ 23-863-= 053
Qs © 739
(2) 93-52= Q7 (5) 155-8.7= (v ke

(s N @ 762
() 15.1-632= MR (& 792-3= O 1437

@) 100-54.7 = @ 453 9.99 - 6.66 = O 131
100-5.47 = ©O559 () 51-499= 0333
(® 77-211= Q53 @ 17-039= 0O 333

Using the table on the right, answer the following questions using the multiple choice answers: AVERAGE SNOW FALL in./yr.)

@ How much more snow How much more snow @ How much more snow P A 745
falls each year in Anchor- falls each year in Peoria falls each year in Anchor- nenorage, A% ’
age than in Nashville? than in Dallas? age than in the other Grand Junction, CO: 19.1

four cities combined?

Peoria, IL: 24.6
©o72in. 0 23.1in. @ 25in. o
@ s82in. Q 223in. Osi3in TN 6.
O c2in ©Q 231in. O 2:0in Dallas, T 15

L DL EEL CLL L L LT

Yy

CROWN

VW W.CLASSCROWN.COM

Skill: Subtracting decimals
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NAME: DATE:

\AJhg cou\dn T the watch keep

Solve the problems in each of the following sections. Then record the
II. corresponding letter in the rectangles below to answer the riddle.

DIRECTIONS Note: The problem numbers match the numbered rectangles.

Solve each problem and match your answers with the answers on the right.

() 47+33= 0 20 (6) 0.103+377= O 48
1 @ o047+33= Q37 31034377 ©:s73
() 1285+7.15 0: 103+377 0 40
B+ /.15= S3+3/./=
/] e I
| @ 1285+0715= 0 13565 (® 999 +0.1= 0 450
() 1285+7.15= Os 9.99 +0.01 = O 10
) 10-6.0= (s 100 27.6-3.14= @ 2446
2 10-06= 094 @) 276-314= Q166
Q 994 Q 156
10-0.06 = 19.3-0.27 =
® —_— Q 25 —_— Q 1903
54.6-12.1= 0 5339 193-27= 0
(5 546-12.1= Q 40 @) 1.93-027= © 2446

Circle the correct answer in each of the word problems:
@ Marisa bought a pair of shorts for $35.45 and a new shirt for @ Sally’s mom gave her $40 before she went to the movie. The

$20.99. What was the total cost of her purchase? movie cost $11. She bought popcorn for $4.65 and a soda for
$3.75. How much money did Sally have left after the movie?
O s5644 @55554 @ s1446

@ s5940 @s51960 Q52060

@ Joe bought a new pair of sunglasses for $18.77 and a hat for ‘ Noah bought a new TV for $299. Sales tax was $25.32. Noah

$14.25. If sales tax was $2.23, how much did Joe spend? got a mail-in rebate for $55.75. How much did Noah spend
on the TV after the rebate?
$33.02 $35.25 $37.25
o © 0 Q 538007 @ 526857 @ $324.32

0 COO00 000 LU0 LT

WWW.CLASSCROWM.COM

Skill: Adding and subtracting decimals
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NAME: DATE:

Which organization dl‘d

Solve each of the following word problems. Then record the
II. corresponding letter in the rectangles below to answer the riddle.

DIRECTIONS Note: The rectangle numbers match the problem answers.

Q A bag of candy weighs 150.3 grams. Mackenzie eats 50.25 grams of candy on Saturday and 86.7 grams on
Sunday. How much candy did she eat over the weekend?

Q Julia’s mom sent her to the store to buy some fruit. She bought 3.25 pounds of apples and 2.73 pounds of
grapes. How many pounds of fruit did she buy?

G Aiden bought 0.82 pounds of pistachios. His family ate 0.5 pounds of the pistachios. how many pounds of
the pistachios are left?

Q Jasmine needs 4.9 yards of fabric for her craft project. She finds 2.75 yards in her grandma'’s attic. How many
more yards of fabric does she need?

ﬁ Cameron bought 14.5 ounces of flour, but used 7.15 ounces to make cookies. Then she used 4.8 ounces to
make biscuits. How much flour is leftover?

Q Justin ran 2.18 miles on Monday, 3.7 miles on Wednesday, and 3.25 miles on Friday. How many miles did
he runin all?

e A toy factory ordered 5.35 pounds of buttons to use on doll clothes. A few months later, there were 2.81
pounds left. How many pounds had the factory used?

ﬂ Erik drove 100.8 miles on Monday, 98.6 miles on Tuesday, and 153.9 miles on Wednesday. If it takes 500 miles
to get where he’s going, how many more miles does he need to drive?

G Jorge ran 4.7 miles in 38 minutes. Sam ran 5.1 miles in 38 minutes. How much further did Sam run than Jorge?

m Jill spent $58.37 on a new pair of ice skates. If tax was $4.21, what was the price of the skates before tax?

JsEE

Skill: Adding and subtracting decimals word problems CLASS L._.
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